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BMI ALT HDL HbAlc
613 709 405 344 75 4 755 146
31.9% 36.9% 21.1% 17.9% 3.9% 0.2% 39.3% 7.6%
1,813 2,572 1,360 765 255 35 3,939 432
26.2% 37.2% 19.7% 11.1% 3.79% 0.5% 57.0% 6.3%
2,426 3,281 1,765 1,109 330 39 4,694 578
27.5% 37.2% 20.0% 12.6% 3.7% 0.4% 53.2% 6.5%
27.09 35.49 20.19 13.69 3.89 22.19 60.49 7.39
26.89 34.99 21.29 14.09 3.99 24.79 58.39 6.79
LDL non-HDL eGFR
739 449 981 9 387 53 1 189
38.5% 23.4% 51.1% 0.5% 20.1% 2.8% 0.1% 9.8%
3,876 1,419 3,168 87 1,887 226 1 1,521
56.1% 20.5% 45.9% 1.3% 27.3% 3.3% 0.09% 22.0%
4,615 1,868 4,149 96 2,274 279 2 1,710
52.3% 21.2% 47.0% 1.1% 25.8% 3.2% 0.0% 19.49
50.99 22.59 51.89 1.39 27.49 9.89 1.49 22.29
48.29 20.79 50.09 1.39 21.79 18.79 5.29 21.99
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